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Question 1
Not answered

Marked out of 1

If not specified otherwise, fill in the blanks with integers (possibly () or negative). A fraction should be reduced (for example, % is accepted but

not %), and if it is negative and the answer boxes (such as ) have ambiguity, the negative sign should be put on the numerator (for example
D

=t is accepted but L is not). log = = log, x, not logy .

Complete the formulae, with 0 < 7r <.
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Question 2

Not answered

Marked out of 1

If not specified otherwise, fill in the blanks with integers (possibly () or negative). A fraction should be reduced (for example, % is accepted but

. a
not %), and if it is negative and the answer boxes (such as ) have ambiguity, the negative sign should be put on the numerator (for example
St is accepted but L is not). log = = log, ., notlogy .
Solve the following inequality.

2?44+ 3 <0.

The solution is <3< -
ar x[pl
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Question 3

Not answered

Marked out of 1

If not specified otherwise, fill in the blanks with integers (possibly () or negative). A fraction should be reduced (for example, % is accepted but

. a
not =:), and if it is negative and the answer boxes (such as ) have ambiguity, the negative sign should be put on the numerator (for example
D

le is accepted but_#2 is not). log = = log, x, notlog,, x.

Evaluate the following.

m xEH )«

Question 4
Not answered

Marked out of 1

If not specified otherwise, fill in the blanks with integers (possibly () or negative). A fraction should be reduced (for example, % is accepted but

. a
not %), and if it is negative and the answer boxes (such as ) have ambiguity, the negative sign should be put on the numerator (for example
D

=L is accepted but L is not). log = = log, z, not logy .

Find the value T = satisfying
D

Question 5
Not answered

Marked out of 1

If not specified otherwise, fill in the blanks with integers (possibly () or negative). A fraction should be reduced (for example, % is accepted but

. a
not %), and if it is negative and the answer boxes (such as ) have ambiguity, the negative sign should be put on the numerator (for example
D

=L is accepted but L is not). log = = log, x, not log, .

Find all values T = .' (a] < satisfying

(22 + 4)5 = 2.
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Question 6
Not answered

Marked out of 1

andb = [c]

The graph of the function f(x) = ax + bis shown. Find @ =

3 k@ @

j— o
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4.di7

Question 7

Not answered

Marked out of 1

The graph of the function f(x) = (x + r)is shown. Find 7 = [a]and p=
la]: \ /X : ’ JX : /‘X
9
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Question 8
Not answered

Marked out of 1

Choose the graph of f(x) = 3%.

A
B
C
D

The correct answer is: C

-1
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Question 9

Not answered

Marked out of 1

The graph of the function f ) =A (:()S(B.]?) is shown. Find 4 — __ B = with 3 = () (they are integers).
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Question 10
Not answered

Marked out of 1

The graph of the function f(x) = log 4 () is shown. Find A = [a].
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